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1-What is the qualification to contest the election of Municipal Council?

(a) For the office of the President, his age should not be less than 25 years.

(b) For the office of the councillor, his age should not be less than 21 years.

(c) Whose name is in the voter list, he can contest the election.

(d) A person can contest the election of councillor from two wards simultaneously.
(e) A person can contest the election of president and councilor simultaneously.
(a)a,bandc

(b)a, band e

(c)b,dand e

(d)c,dande

2- Which Act provides for the reservation seats for women, scheduled castes and scheduled tribes in
the municipality?

(a) 65th Constitutional Amendment Act
(b) 68th Constitutional Amendment Act
(c) 73rd Constitutional Amendment Act
(d) 74th Constitutional Amendment Act
3- Consider the following statements :

1. Courts have no jurisdiction to examine the validity of a law relating to delimitation of
constituencies or allotment of seats in respect of Panchayats.

2. An election to a Panchayat can be called in question only by an election petition, which should be
presented to such authority and in such manner as may be prescribed by the State Election
Commission.

Which of the statements given above is / are correct ?

(a) Only 1

(b) Only 2

(c) Both1and 2

(d) Neither 1 nor 2

4- What is the system of governance in the Panchayati Raj set up?

(a) Single tier structure of local self govt. at the village level
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(b) Two tier system of local self govt. at the village and block levels.

(c) Three tier structure of local self govt. at the village, block and district levels.

(d) Four tier system of local self govt. at the village, block, district and state levels.

5- If budget is disclosed before introducing in the Legislative Assembly, what will happen?
(a) Council of Ministers will have to resign

(b) Chief Minister will have to resign

(c) Finance Minister will have to resign

(d) All of the above

6- Which one of the following statements is not correct regarding Certiorari?

(a) A High Court can issue a writ against itself in its administrative capacity

(b) A bench of a High Court can issue a writ to another bench of the same High Court
(c) A High Court cannot issue a writ to another High Court

(d) A High Court can issue certiorari to a tribunal situated within its jurisdiction

7- On which of the following issues can a Governor make recommendation to the President?
1. Dismissal of the State Council of Ministers

2. Removal of the Judges of the High Court

3. Dissolution of the State Legislative Assembly

4. Declaration of the breakdown of the Constitution Machinery in the State

Select the correct answer using the codes given below :

(a)1,2and3

(b)2,3and 4

(c)1,3and 4

(d)1,2and 4

8- Which of the following states are the first states in india where Integrated Criminal Justice System
(1CJS) will be launched?

(a) Punjab and Haryana
(b) Telangana and Andhra Pradesh

(c) Madhya Pradesh and Chhattisgargh

Plot-1441, Opp. IOCL Petrol Pump, CRP Square, Bhubaneswar-751015
Ph. : 8984111101, 8093083555. Web : www.vanikias.com, E-mail : vaniksias@gmail.com



V-n " I-“ = I.[IS Polity+Economy+CA MCQs FOR IAS

\ENBEY Exclusive Coaching for UPSC/OPSC/PSC

(d) Bihar and Jharkhand

9- Which article of the Constitution lays down that state shall take steps to organise village
Panchayats?

(a) Article 36

(b) Article 73

(c) Article 24

(d) Article 40

10- According to the Constitution of India the term ‘district judge’ shall not include
(a) Chief Presidency Magistrate

(b) Sessions Judge

(c) Tribunal Judge

(d) Chief Justice of a Small Cause Court

11- Consider the following statements regarding the Input Tax Credit (ITC):

1.It is a mechanism to avoid cascading of taxes.

2.The Goods and Services Tax mechanism in India does not incorporate the ITC.
Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

12- The Central Government had recently allowed additional borrowing limit to the States for current
financial year subject to which of the following reform(s)?

1.Implementation of One Nation One Ration Card System
2.Ease of doing business reform

3.Implementation of National Education Policy 2020
Select the correct answer using the code given below:

(a) 1and 2 only

(b) 2 and 3 only
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(c) 1and 3 only
(d) All of the above

13- Financial market is classified into money market and capital market. Which of these are money
market instruments ?

1.T-Bills

2.Preference shares

3.Commercial papers

Select the correct answer using the codes given below.

(a) 1and 2 only

(b) 1 and 3 only

(c) 2and 3 only

(d)1,2and 3

14- Which of the following situations contribute to cause the Inflation situation in an economy?
1.Demand-supply gap

2.Excess circulation of money

3.Increase in increase tax rates

Select the correct code:

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1 and 3 only

15- Consider the following statements regarding Stagflation:

1. It happens when an economy faces stagnant growth as well as persistently high inflation.
2. The purchasing power of a consumer is affected by stagflation
Which of the given statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both1and 2
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(d) Neither 1 nor 2
16-Consider the following statements with respect to Shadow entrepreneurships:

1. These are the businesses that sell legitimate goods and services but are not registered with the
government.

2. The unlicensed taxicab services and e-pharmacies are examples of shadow entrepreneurship.
3. India and Indonesia have the highest number of shadow entrepreneurs.

Which of the statements above is/are correct?

(a) 1and 2 only (b) 2 only

(c) 2and 3 only (d)1,2and 3

17-. With reference to the Bad Bank, consider the following statements:

1. These are the banking institutions which are facing balance sheet problems.

2. The banks are restricted from getting involved in lending and taking deposits.

Which of the statements given above is/are correct?

(a) 1 only (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2

18-Which of the following is correct about India Innovation Index Report?

1. India Innovation Index Report is released by NITI Aayog.

2. This index has been developed on the lines of the Global Innovation Index.

3. Number of Internet subscribers is one of the parameters considered in measurement of this index.
Select the correct answer using the code given below:

(a) 1and 3 only (b) 2 and 3 only

(c) 1and 2 only (d)1,2and 3

19-Which of the following statements is not correct regarding the different shapes of economic
recovery?:

(a) In Z-shaped the economic disruption lasts for a small period wherein more than people’s incomes,
it is their ability to spend is restricted.

(b) In V-shaped the incomes and jobs are permanently lost, and the economic growth recovers
gradually.
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(c) In U-shaped the economy after falling, struggles around a low growth rate for some time, before
rising gradually to usual levels.

(d) In K-Shaped after a recession, different parts of the economy recover at different rates, times, or
magnitudes.

20- The Fiscal Responsibility and Budget Management (FRBM) Act aimed for
1.eliminating both revenue deficit and fiscal deficit

2.Flexibility not given to RBI for inflation management

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

21. Consider the following statements:

1. National Payments Corporation of India (NPCI) is a Not for Profit Company for operating retail
payments and settlement systems in India.

2. Unified Payment Interface (UPI) transaction is currently the second biggest among the NPCI
operated systems after NEFT.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

22. Which of the following statements is not correct regarding the Central Vigilance Commission?
(a) The Central Vigilance Commission (CVC) is a statutory body.

(b) The CVCis only responsible to the President of India.

(c) The CVC was set up on the recommendations of K Santhanam committee.

(d) The Vigilance Awareness Week is observed by the CVC.

23. With reference to Defence Exhibition Organisation (DEQO), consider the following statements:

1. It is an autonomous organisation established by the Government of India in 1981.
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2. DEO will be organising Aero India 2021.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

24. With reference to Ganga Utsav 2020, consider the following statements:

1. It is an annual event organised by National Mission for Clean Ganga.

2. The mini Ganga Quest is designed to make youth and students aware of environmental issues.
Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

25. With reference to Purchasing Managers’ Index(PMI), consider the following statements:
1. It is an indicator of business activity in the manufacturing sectors only.

2. PMI above 50 represents an expansion when compared to the previous month.
Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

ANSWER SHEET
1 B 10 C 19 B
2 D 11 A 20 D
3 A 12 A 21 A
4 C 13 B 22 B
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5 C 14 B 23 C
6 B 15 C 24 C
7 C 16 D 25 B
8 B 17 D
9 D 18 D
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